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1. Introduction

In current TS25.321, the number of transport block sizes is 128 but there are 6 bits can be used on E-UCCH to indicate transport block size for 1.28Mcps TDD. Therefore, Node B and UE should select 64 transport block sizes according to the E-TFC selection procedure. However, the following problems may result different selected TB sizes between Node and UE.
1. Node B allocates the power according to the HARQ offset of MAC-d flows on which the highest priority logical channels with available data are mapped when UE transmits SI. But during the E-PUCH transmission, the highest priority logical channels may have been changed. Thus the E-TFC candidate sets selected by Node B differ from that selected by UE.
2. When determining the maximum TB size for different modulation types, the granted power [image: image1.wmf]e
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 should be derived by interpolation calculation which may result quantification errors. Different quantification errors lead to different E-TFC candidate sets between Node B and UE.
In addition, a great deal of calculation will be introduced during the E-TFC candidate sets selection procedure. 
If 64 absolute TB sizes are adopted, these problems and calculation on E-TFC candidate sets can be removed. The mapping of transport block size L to signalled index k = {0,1,…63} is given by the formula:
	Category 1-2
	Category 3-6

	1 Timeslot 
	2 Timeslots 
	3 Timeslots
	1 Timeslot 
	2 Timeslots 
	3 Timeslots
	4&5 Timeslots 
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2. Conclusions
According to the above problems in E-TFC selection, we propose that 128 TB sizes should be changed to 64 absolute TB sizes for 1.28Mcps TDD. By the 64 absolute TB sizes, the errors made in the E-TFC selection procedure will be alleviated and the calculation complexity will be reduced.
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